s toys. The probability that a toy is defective is 0.08. A random sample of
d.

1e expected number of defective toys. [2]
1e probability that there is at least one defective toy in the sample. [3]
that there is at least one defective toy in the sample, find the [3]

dility that there are, at most, three defective toys.
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[Maximum mark: 8]

A factory makes toys. The probability that a toy is defective is 0.08. A random sample of
50 toys is tested.

(a) Find the expected number of defective toys. 2]
(b) Find the probability that there is at least one defective toy in the sample. [3]
(c) Given that there is at least one defective toy in the sample, find the [3]

probability that there are, at most, three defective toys.
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